STEP 9 FREQUENCY TREES

IN A YEAR GROUP. THERE ARE 270 STUDENTS. 160 OF THEM WEAR GLASSES. OF THE STUDENTS THAT

WEAR GLASSES. 60 OF THEM HAVE BLUE EYES. SHOW THIS INFORMATION IN A FREQUENCY TREE.

| Crep [()° BAR & LINE CHARTS

DRAW A BAR CHART FROM THE FOLLOWING INFORMATION

_food | Frequanoy
Pazo 1
Tawos 4
Sugwi \\
W b
Rosto 10

STEP || ADD IN STANDARD FORA

Give your answers  in - standard form. :
)3y 10* + 2 x10% D 3L x10*x23x10°

N8 x10°x |x 10 5)2.8x10" + |.Lx10°

DIx 0%+ x10° 6) 1.2x10° + 7.2 x10°

GTEP [ SUBIRACT TN STANDARD FORM

Givne Your  GAswers w  stndord  form. :
) 3x10°- 2x10° W 1.2 \0° - 2.7x10°

D 5% 10% - 3x |0 5y 6x \0" - 5.2%\0°

D 6x10°- 1x10° 6§ Fx10%- §x10



